Geography 155b - Questions 

Choose the best answer for each.
1. The first of earliest cities are believed to have emerged in 

A. Mesopotamia 

B. The Nile Valley 

C. The Indus Valley 

D. Meso America 

E. All of the above. 
2. Approximately 47 percent of the world’s population lives in urban places. What percent of the population of the MDCs lives in urban places?

A. 30%

B. 45%

C. 75% 

D. 95%

3. For a place to be classified as urban by the U.S. Census Bureau, it must have at least how many inhabitants? 

A. 1000

B. 2,500 

C. 5,000

D. 10,000
4. No matter how large a settlement becomes, it does not become truly urban until: 

A. a classless society can be documented.

B. its workforce is divorced from the soil. 

C. a leadership class evolves.

D. an agricultural surplus is produced.
5. Which of the following is believed to have been the cause of the rise of earliest cities in the places where they did? 

A. An efficient manufacturing system that produced enough goods to make hunting and gathering no longer necessary. 

B. An efficient agricultural system that produced enough surplus food and fiber that made settled life possible.

C. An efficient service sector that allowed settled life in particular concentrations. 

D. All of the above 
6. The basic premise of economic explanations of urban growth is that 

A. the existence and growth of cities depend on the amount of goods and services it produces and sells beyond its borders. 

B. the existence and growth of cities depend on the level of social organization of the society. 

C. the existence and growth of cities depend on the need for communication technology of the society. 

D. all of the above.

7. The European city that was divided between East and West by an artificial barrier to keep people from fleeing to the West during the Cold War was:

A. Berlin. 

B. Budapest.

C. Prague.

D. Copenhagen.

E. Hamburg.

8. New towns in Europe have been relatively more successful than in the U.S. primarily because:

A. the former were built mostly by the government and not for profit. 

B. Europeans are more mobile and do not stay put long in one place.

C. Europeans have little interest in automobiles.

D. racial/class divisions are lacking in European society.

E. both A and D

9. London:

A. survived World War II with less damage than Paris.

B. has two centers: The City and Westminster. 

C. was redesigned by Haussman after World War II.

D. is no longer one of the leading global cities of the world.

10. Which one of the following statements is true about the comparison between European and U.S. cities?

A. American cities build structures to last longer.

B. Europeans tend to be more positive about cities. 

C. Public transportation is better in American cities.

D. European cities make less use of greenbelts.

11. Which one of these statements about contemporary Europe is incorrect?

A. Metropolitan decentralization is not a problem. 

B. Deindustrialization is especially serious in some British cities.

C. Core cities are maintaining their economic dominance at the expense of the periphery.

D. Europe remains a key part of the global system through the UN (Geneva), OECD (Paris), and NATO (Brussels).

12. Which one of these statements is not true about Berlin?

A. It once had a good central place location within Germany.

B. It suffered from an artificial situation during the Cold War.

C. It is being redesigned after an international competition.

D. Its future role in the European Union is quite clear.  

13. A country that best exhibits rank-size distribution in its urban system is:

A. Austria.

B. France.

C. Germany.  

D. Greece.

E. Sweden.

14. The landscape of what city was the first to be transformed by the Renaissance?

A. Cordoba, Spain

B. Rome, Italy

C. Florence, Italy 

D. Athens, Greece

E. London,  England.

15. In France, the seven largest metropolitan areas are distributed throughout the country (not all clumped together). This spatial pattern reflects the principles of:

A. multiple nuclei theory.

B. the rank‑size rule.

C. urban primacy.

D. central place theory. 

16. The highly urbanized Randstad of the Netherlands and the Rhine‑Ruhr area of Germany have diameters of about 70 miles. These two are examples of:

A. conurbations. 

B. world cities.

C. ecumenopolis.

D. metropolitan areas.

17. Prior to changes that began in 1989, Budapest, Prague, and Warsaw were best described as:

A. socialist cities. 

B. post‑industrial cities.

C. capitalist cities

D. industrial cities. 

18. Which urban area was the world's first mega-city?
 A.  Tokyo
B. New York City 
C. Mexico City 

D. Shanghai

E. London 
19. The doughnut model:

A. is more applicable to British cities than U.S.cities today.

B. exhibits increasing incomes and higher quality residential areas in the ring of the doughnut. 

C. is less visible in the cities of the old urban industrial core of the U.S. than in the Sunbelt.

D. is a reflection only of variations in wealth.

20. According to Ray Oldenburg, cities need to have good “third places” in order to function well.  The best example of a good “third place” is a:

A. car.

B. office park.

C. plaza. 

D. video arcade.

21. Toronto:

A. is Canada's second largest city.

B. grew to importance based on its strategic location on Lake Erie.

C. is an example of a sustainable city. 

D. has not had a very successful metropolitan government.

22. Which pair of cities includes good examples of those having the hardest time revitalizing neighborhoods and coping with an aging, poorly‑maintained housing stock?

A. Toronto and Portland

B. Denver and Salt Lake City

C. Atlanta and Phoenix 

D. Pittsburgh and Cleveland 
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23. Donald Duck is visiting what Latin American city in this picture?

A. Buenos Aires

B. Rio de Janeiro 

C. Caracas

D. Montevideo

E. Mexico City

24. Brazil’s efforts to open up the interior of the country to settlement and development has:

A. included establishment of urban centers in the interior. 

B. led to a sharp reduction in the primacy of Rio de Janeiro.

C. changed the dual primacy of Rio and Sao Paulo to triple primacy.

D. resulted in Brasilia becoming the most important city in the country.

25. Brasilia:

A. was built before World War II to help the country open up the interior of the country.

B. is shaped like an airplane to symbolize the new direction of growth. 

C. was designed by foreign architects in the latest European mode of city planning.

D. is sited right in the middle of the Amazon Basin to serve as the central hub.

26. Lima:

A. became the center of wealth and power for the Viceroyalty of Peru in Spanish colonial times. 

B. was used as a case study for the problems of urban pollution.

C. no longer exhibits any elements of the classic Spanish colonial city.

D. weathered the crises of the 20th century to emerge as one of South America’s wealthiest cities today.

27. What Brazilian city, touted as “A Place for Living,” is often used as an example of successful urban planning?

A. Salvador de Bahia

B. Curitiba 

C. Recife

D. Manaus
28. Which of the following factors are used in the objective definition of an urban area? 

A. Population size
B. Population density
C. Employment structure 
D. Both A and B.
E. All of the above. 
F. None of the above
29. Which of the following factors are used in the objective definition of an urban area? 

A. Population size
B. Population density
C. Employment structure 
D. Both A and B.
E. All of the above. 

F. None of the above
30. Italy’s urban hierarchy is topped by a primate city: Rome.
A. True 
B. False 

31. The concentric zone model of internal city structure was developed in the 1930s. It was based on spatial variations in household rent in American cities.
A. True 
B. False 
32. The concentric zone model shows that even at the beginning of the auto age, American cities expressed a clear separation of social groups. 

A. True 
B. False 

33. Vecindades are shanty-towns located on the outskirts of Mexico City? 

A. True
B. False 
34. Quebec City  and Athens (Greece) have high-point sites in common? 

A. True 
B. False 

35. Frankfurt (Germany)   and London (England) have bridge-point sites in common? 

A. True 
B. False

36. Los Angeles, San Francisco, Seattle, and Vancouver are all on the Pacific Rim with ocean access to Tokyo, Shanghai, and other Asian ports. This is an example of situation. 

A. True 
B. False 

37. Colonial towns of North America served as agents of the mercantile economies of Europe . 

A. True 
B. False 
MATCHING.  For each term on the left, choose the best definition on the right. 

38.
B
Urban Agglomeration
A.
A subsidiary unit; a specialized segment of a larger urban complex that is not self-sufficient; it may be mostly residential and separately incorporated from the central city
39.
A
Suburb
B.
An urban entity incorporating the population in a city plus that in the built-up areas adjacent to the city boundaries. 

40.
C
Megalopolis
C.
A large-scale urban entity incorporating several interconnected metropolitan areas.
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